Sy

Mathematics 1|l - Sample Exam Mark{nq Guide Bruary 20\

Selected ResPo nse

N C ) ¢ Wy C 19 A a) C
3 A N ¢ ) B ) D ) B
3 C 3 D B) D 1§) C 2 D
4 A H D W D 9 B ) B
3 D o) C %) A o) D 25 B

(onstructed Response.

1) (n+ ) - 5 oR (an-N*-5
4+ Un+1 -5 4n*.Hn+ 1~ 5
Un*s 4n — 4 Yt -4n - 4
bin*+ n-1) H(n*—n-1)

.. divisible by Y Since 't can be fa.chmd sulb
- When 5 15 sublracted Lrom +he Square of an odd number
the result 15 divisible blﬁ 'd
Marking Gwide:

— invial expression of (An+DN=5 or (An-N"-5 or

Some ofher Ccovrect expression

1pt) - expanding and combining Lke ferms
lpy) - foctoring ovt 4

@ - conelusion

n=1 n-6 n= -5
(D=2 (8)(2)= 12 -9 =-p Conclucon: Ansues
(+5= 3 (12)+5=17 (~1)}+5 -5 Marf MM
(Mx4=28  (P4=4 (-3¢ =2 alking ok
(83)+30=58 (3)+30= 98 “2+30=1D @—'}eShnﬂ number trick
(58)-18=4p  (9)-13:=8> 10-1g=-§ @ dmwmag accurate
GoYsy=1p  (8):d=2  "9i4=-2 Conclusion .
(10)-8 =2 ()-9 =12 2-9=-
(n+5)(4) ¥30-15 _ Q@ - $n+a0+i2 ¥ = 2n+5+3-8 =
4 o
W\arkmq Cwide:

@ - Seﬂrmq up a\ﬂdom oorre.oﬂ\(
@- Slrv\p\tﬁcodflon o 2n




mL5= 2%° Marking Guide

mle= 18° @- each ansle, measure
ml3= 128
mLg= 52°

o -]
186-10%

2
2 1 2 ° =3é°
3= 2 +n- 200 (os b8

2%
6Y=2x*— 2 g’ %

2 (C“ 1:8) @K o 4 >
64= 2L + 0.613% €05 36 = ¢

64: 2613 %” o c‘o%g’

atuue = 1 %: UquL3

2= 4.9yy3 . Porimeler = 5(4quu3) = 24.32 cm.
1 Dorimetec = 5(4.4u43) = 2432 cm.
| Guide Marking Guide

elerming angle fov pentagen @ delerming angle bov pentagen.

Sethng up equastion + find length of sude iot) delerming base angle of" 1sosceles A
Plung for  lenghh of o sde (oD sethng wp equahon to find length of sde
dding 4 Obtain perimeter slumg for  length of o side

aAqu 4 obfain perimeter

5) Statements Reasons
mL1+ml2+ml3= 180" Argles i & add fo 180"
mL3+mlli= 130 Sopphimentary Ang\cs/s-}-rmg‘m' Dine,
mll+ml2 +m[3= mL3+mLt  “Botth = 180°; Transihwe ?m?er\«j of =
mLl+mLl= m[H Subtraction of m[3 from both sides
markm@r Guide

@— each reasen

qu\ﬂc: shdent’s worqu Showld indicate tu\o\e,rsl'andm%/




603 Yes. Sufficient informedinn . ASA
y Marking Guide

f G (Ig)- Yes and Reason

B) 4.C= 130 (A5+58)= &5
1 _ 8¢ _ pe Markln% Guide
SNE  SN50 SN HD° @- obﬁunmzﬂ mlC
BC= .
C %\'2%_ 10.615 - SQHm% up law of smes
lot) - so\vm? 8C
AC= 125m30° _ 13021 w - solving AC
Sineo (36h) - 0dding 4o sbis
C Brimeler: 12+11+13 = 3bem perimete

N\~
tiom \q‘%ﬂ‘ % X%
yo™ Ny 4_12
2 w
Y

" W 199244472 (198.2) (%) (o1
font= % fan23= § W= 339263

0
w= io_zb =199%,2 71: ‘EHH_Z?: 94,23 w= 4.2 m

ton)

Marking Guide:

- ;aHWU up and sol\';m% for %

— setfing  up and so\vinﬂ {or 8
@' o\o\‘mnmaé ana\c of 3°

- Wsing law of cosines
- obl—mmn% answe/

N

glf) | MMkl\'nﬁa)r Guide
__%‘75///_ @— —Fm).lmi 2-Score  br Showing
Seript 1f 2-scere on cale. used
2= 15-I06 = 0.95% (1) - for % rolaked 1o 2-score
DS ’1‘“5- (shodsd ragion)

Using chart : a5 (2487)  (p)- mukk o find soluhon
Using calelator » 146k (2500)




) N)arklnqu Guide

Ioz @-— —Fbr 2-Score o.ssocm-kJ
| 2 with loolb (ql)o/o)
B i @ - M‘smoﬁ 2 -Score fFavmula
2=12% l-?.%=-|°—:_’_i§- @ - d('/\-f»fmmm% Standard
135 = 15 deviahm
.15
.29
6=11.32
Margn of errof mafkm Guide
YIA-345 123 . (39 o) margin of error calewlatn
i 3

Samplo_ mean

345+ 635 = Hp,35 Soump\c mean caladation
o 412L-6.35 = Hp.25

ov  345+432 . UpgS

2,
G) n clnangg. @ - each ansuer
Gv) larﬂu
N\aram' ot ermr reduces o @- Correct cnswes

confidence inkrval s narrouwer

Marking Guide

% //////// @ph- dbhaining reqon

x with Shadmﬂx

(b158)  (0)9) — cost funchm
Ce 12+ 9y - dederming ?4' of

Verhees: (0,4)  C=1200)+ 3@) = $72 ntersechion (4,3%)
1459 c:2@r3GE8):- #9353 (1. plugging in agproprek
(15,0) C= 1209 +30) F130. Vachices
- answuf

S Use all +3P°\/ o minimize. cost.




(5,8

S

7 (%0,1625)

G
o,on.éV\
X

F

y: k (x-30)+15.25

29): D25 = k(-30)+15.25
-15 = 900k
-
60

| 2
- y.-"gg(x—aa 116,26

x= 45 fmdy
E ’eJE (44-30)'+ 15.25
7: 10.2%

. T+ coes clear

7 (%,1625)

Gfeghtca\\!

(45,1029
(4135,16)

— R

—

Mo.r‘kmg;r Guide
— for vertex in equachidn
(@) - sublong in (v,02%)
@ - $<>\vma6 Gr k
@ - thm
y=10 ford x | Gygeas) on
0= 25 (-30Y + 19,25 ‘I..
-525= Z5(x-30)" eo) - q!ﬂs
315 = (2-36)" o Pack
£ 1776 = %-30 (45,10)
x= 30t(1.15
x=122% o x=4135
Marking Guude

@— Ie,'H'm% X=45 +o  splve ‘Pb"'y
er leﬂmc&, \/=ID Yo solve for x

@— Pluﬁﬂ'”od into ecbua:hm and

Selvingy
@ - answer loased on reselt

Mar King, Guide

@— \nd|;a+ln% one of either
(46,10.25) »r (431.5,10)

on carabph
@ - ansuer based on reselt




I’l) Y= alx-r)(x-9) Marking Guide

Y= a(x+D(x-¢) @: E:a(’xﬂ?(x-e)
127 a(5+ D(-12-6) (Zp): substiwhng x=5; y=-I2
‘ll:ﬁ(é)(“l%} ; o= ‘/a,

-12=a (-10%)
|
2=0

E%n 5 ra= Jép(x+ Nlx-¢)

: fnal answel(

I3) 'g: a(x-"N(x-5) MarkmgLG’u.lale
Ys a(x)(x-6) 5 a= @ Jactored form
Y= () (x-6) @ vertey form

@-‘ standard form

y: alx-n+ K
\a: 0_(')("’.));_ q 5 az=)
wa: (x-3)= 9

3: ox*+lox +c

|
.

[~ I~ )
(TR

o]
\g: ‘)(7'-— oY




Marking Guide

@4 sa:Hlma. wp *o

fimd minimum distance

@— answuf

14 4

h=1Dsin30
h= 5 km
Leticta’s house 15 5 kem

or move from Caithn house

Marking Guide

b) 0="-113x+ 5\ @— Using oeua.dra.ho
x= 1135 3D formula
a0 @ - solving CorrecHw
= 17,31 J95.9 @ conelusion
L
C3teae 337
L N\ 13.53

o Leticla hves 333 em o 1353 km

Lrom Arqa,\a‘_s lhouse..

fnar\f:m% Guide,

154 \J—mkrreer s (D, 147D) - y,mlfercepi'
s means atf t=0sec @v - descriphion
e Wuﬂh’r of the Spidar 18 |UFocm
N 1L.4F m.

B W=D Marking G- wide

—44q0t% 4 9%0t + l4TFO =0 l Jb1__ Zod)- \:(?3 0
- 21-3=0 | p)- factor or
(£-)4+D =0 @, -%NMo quodratic
£-3=0  t+1=0 - 980 @ anSiuer

@ t=- = —ﬂge[;gleo
1003

o $rog ks waler aFkr 3 sec.

W\arkmq Guade,

c) t--0- —gzg‘ | 3+-.2_ | @-u.swm& x= éa
- 2 & or avera%t X- m+

W)= -490(1)+ 4%0(1) 1470 ‘ h()= (260em @ To find %= |

= 9% m, - subbing In h
lnm 1460 cm n l.dbm. find h(i




(g,

g

0, )

= kKGO (x-16)
19): 19 = K(8)8-1b)
LERICNED)

18 = — 6lk
_% - k
wy ‘33,2 (%) tx-16)

71: 12, 172= —3%(70(7(-—"6)
334 = -9 (%*- 16%)

i

s

Marking Guide
| pt)-For factoved form of
eosm,htn
2P - for Subbing n ve(tex
- So\v\nq{ for k

- for eguahion
@ - \eHm%’ V=12
Lo - setting

m b

usin c@mdm\—t‘o
'Fmrr:éA,\a ond. solung
x

Har gragh F—% () (x-16)

60\\‘\‘\% M‘-é y2= l?.. '+0 ‘plhd
Y= gL Uy “(’:ﬁ\\“\% nlersection pom+s
%= 14t + 384 =0 o8 graph Y= Lb0G-16) -12
= Y4t | 12 +v 1Cmo\ 'z—m%rca,erS
& 12, 62m @ sublraching Jo find
%= 144233, 1y / distarce from center
T \G 2 28 m of funnel
2.6.-9 = Y%.61m
N %-33% > 4.b2m Grae\'\\m.\l%
Lxﬁ\n%s Gro 0pPreY 9

4.61m -From ceniler

of tunnel.

1500 + 26016)= 278  althude

1380 - 2060 = 80 £ 1o go clown
I 2% min
0

Fam 4 lomn + 35min + 3% min
| S ¥
4% mn

7:599: 40 am

Marking Guide,

Eod - ()

— cruising alhiude

- Oblaiming necessary
distance 1o 9o doup

@- dwiding b‘d 90
- addingy F1mes
L pd) - final answer




520 _ 0.%
620

Now can & 3T volume
Scale ffad—tr(:

k3= 0.9

K= m

K=0.92%3
SA= K (uoo)
= 344,73 em”

v5cal¢ = TR = mrth

= 4,59 mz

Vagual = (37 (4,99
= 123.bb m°

Markm% Gude
‘FIJ’( radws of cenler
Calcdahon of volume

of scale model

@W\u&* de (3Y’

208 Wx3 = (0%
9" x % = L4

b (%Y - L %050

= 0.6) (5D - 7 (03755

Marking Gwde
@- dwiding o obtzain 0.8

- scale factsr &
| mult Sk bld k*

m‘) l.2— 1(0,3) = O‘Gz/"chamekro; center

(5.4 UN= 16.2m
(0.6)(3) = L9m

@) (0.5)(5) = pAm

[v]

Vacup = T&h - m*h
= 11D (62)- (0 4Y (6.2
= 123.66 ™

[YIa_rkm% Gude

@ for rodws of cenler

@ for mMult dimensions b\d3
Calcwla:hov\ of volume

actual Pipe

Ma.rk-mé Gude
@ each 10%' and 6%
5%un.rm%r Scale facter




